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1. Forest Conservation Act of
amended in the year :

(A) 1990
(B) 1998
(C) 1980
(D) 1988

2. The virus causing AIDS is :
(A) HMV
(B) HIV
(C) TM™mV
(D) TLC

3. Which one of the following gas causes of

acid rain ?

(A) Hydrogen

(B)  Sulphur dioxide and nitrogen dioxide

(C) Methane
(D) Carbon dioxide

4. World Environment Day is celebrated on :

(A) 15June
(B) 26 June
(C) 5June

(D) 10 June

5. The ‘Hot Spots’ are the areas of :
(A) Hot springs
(B) Grasslands

(C) High biodiversity under threat

(D) Warm Places

6. State bird of Uttarakhand is :
(A) Monal Pheasant
(B) Blue Kite
(C) Sparrow
(D) Crow
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10.

11.

12.

The Wildlife (Protection) Act was enacted
in:

(A) 1978
(B) 1972
(C) 1980
(D) 1988

The process of eating and being eaten is
called :

(A) Food web

(B) Trophic level
(C) Food chain

(D) All of the above

In the food chain, Grass-Rat-Snake, the Rat
is:

(A)  Primary Consumer
(B) Primary Producer
(C) Secondary Consumer
(D) Secondary Producer

Percent energy transferred from one trophic
level to the other is :

(A)  15%
(B) 20%
(C) 10%
(D) 25%

Which of the following is a non-renewable
resource ?

(A) Plants
(B) Water
(C) Minerals
(D) Soil

Theory of Human Population was proposed
by :

(A) T.R.Malthus

(B) A.R.Wallace

(C) Charles Darwin

(D) J.B. Lamarck
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13.

14.

15.

16.

17.

18.

Cause of Minimata disease is :
(A) Lead

(B) Mercury

©
(D)

Arsenic

Cadmium

Which of the following is not a decomposer ?
(A)
(B)
©
(D)

Fungi
Algae
Bacteria

Actinomycetes

The most stable ecosystem is :
(A)
(B)
©
(D)

Ocean
Forest
Desert

Mountain

Which of the following pyramid is always
straight ?

(A)
(B)
(©)
(D)

Pyramid of energy
Pyramid of biomass
Pyramid of number
All of the above

Maximum permissible noise level for road
traffic near residential areas is :

(A) 70dB

(B) 85dB

(C) 100dB

(D) 120dB

World Biodiversity Day is celebrated

annually on :

(A) 22 April

(B) 16 September
©
(D)

5 June
22 May
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19.

20.

21.

22.

23.

24.

Smog is combination of :
(A) Air and water vapour
(B) Water and smoke
(C) Smoke and fog

(D) Fire and water

Term ‘Ecosystem’ was
following :

(A) Odum
(B) Tansley
(C) King

(D) Ramudar

In an ecosystem, the direction of energy flow

is :
(A) Cyclic

(B) Bidirectional
(C) Irregular

(D)  Unidirectional

Blue revolution is related to :
(A) Silk production

(B) Clean atmosphere

(C)  Water conservation
(D) Fish production

Chernobyl disaster occurred due to :

(A)  Nuclear reactor explosion

(B) Poisonous gas leakage
(C) Forest fire
(D) Earthquake

Cold desert in India is found in :

(A) Ladakh
(B) Manipur
(C) Thar

(D) Uttarakhand
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25.

26.

217.

28.

29.

30.

State flower of Uttarakhand is :
(A)
(B)
©)
(D)

Rose

Lotus

Brahma Kamal
Genda

The percentage of nitrogen in atmosphere :
(A) 78%
(B) 70%
(C) 68%
(D) 60%

NEERI is located at :
(A) Delhi

(B) Nagpur

(C) Dehradun

(D) Bengaluru

A species of immediate threat of extinction is
called :

(A)
(B)
(©)
(D)

Rare
Endangered
Endemic

All of the above

High amount of E. coli bacteria in water is an
indicator of :

(A) Hardness of water
(B) Industrial pollution
(C) Sewage pollution

Presence of chlorine in water

(D)

Which pollutant causes fibrosis in lungs ?
(A) Lead
(B)
©
(D)

Asbestos
CFC
DDT
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31.

32.

33.

34.

35.

36.

BOD (Biological Oxygen Demand) in fresh-
water should not exceed beyond the
following :

(A) Sppm
(B) 10 ppm
(©)
(D)

25 ppm
50 pmm

Which of the following is not a conventional
source of energy ?

(A)
(B)
(©)
(D)

Coal

Solar energy
Nuclear energy
Oil and Natural gas

Soil pollution is caused by :
(A)
(B)
©
(D)

Agro chemicals/fertilizers
Cowdung

Domestic effluents
Automobile exhausts

Population growth is affected by :
(A)
(B)
©)
(D)

Poverty

Death rate

Birth rate

All of the above

Pollutant from motor-car exhaust that causes
metal disease is :

(A)
(B)
(©)
(D)

Mercury
Lead
Nickel
Zinc

Which of the following is not a green house
gas ?

(A) CO,
(B) CH,
(C) CFCs
(D) SK
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37.

38.

39.

40.

41.

42.

Path of the chemicals in the ecosystem is :
(A)
(B)
(©
(D)

Linear

Cyclic

Linear and two-way
Both (A) and (B)

Reclamation of saline and alkaline soils can
be done by adding :

(A)
(B)
(©)
(D)

Gypsum
Nitrogen
Potassium
Phosphorus

AIDS can spread through :
(A)
(B)
©
(D)

Infected mother to child

Shaking hand with an infected person
Kissing an infected person

None of the above

Concept of development without harming the
environment :

(A)
(B)
(©)
(D)

Development
Environmental conservation
Sustainable development

None of the above

International unit of measuring radioactivity
is:

(A)
(B)
(©)
(D)

Becquerel
Curie
Rad

Roentgen

How many National Parks are present in
India ?

(A) 90

(B) 103

(C) 200

(D) 50
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43.  Pollutants emitted by Jet Planes are : 43. VI TR ¥ Scfid U5 ©
(A)  Aerosol (A) WA
(B) Smoke (B) gaﬁ
(C) Smog € =
(D) Fog (D) @I
44.  Which of the following food chain directly 44, fy=fafad # & a1 @@ @ WY R
depends on solar radiations ? ffeof w R g 2 2
(A) Parasitic food chain (A) Wil @rE el
(B) Grazing food chain (B) IRV W& gl
(C) Detritus food chain (C) Hawell @re el
(D)  None of the above (D) e H U BIg el
45.  The green plants constitute the : 45. T OY §d 2
(A) First trophic level (A)  TF 9 wX
(B) Second trophic level (B) fad @ ®R
(C) Third trophic level (C) T @ wR
(D) Fourth trophic level (D) =g @ ®R
46.  Tehri Dam is constructed on river : 46, fegdl dfg @1 o fbd 7 W g @ ?
(A) Ganga (A) T
(B) Bhagirathi (B) wriRell
(C) Yamuna (C) g
(D) Kosi (D) BRI
47.  Which of the following is not related to 47. ffaRag & 9 oF 9RdT qowd O |
Indian Desert Plants ? Frfa T8l © ?
(A) Thorny trees (A)  oF g
(B) Bushes (B) T
(C) Cactus (C) dacH
(D) Deodar (D) <@ER
48.  First National Park developed in India is : 48.  ¥RAIY # qayeH AR I U T
(A)  Gir National Park (A) R I Sam
(B) Kaziranga National Park (B) SNINI VI QeI
(C) Jim Corbett National Park (C) R afde I M
(D) Kanha National Park (D) BIel AL S

FES-10(A) (8) 2017



49.

50.

51.

52.

53.

54.

One of the ex-situ conservation methods for
endangered species is :

(A) Wildlife Sanctuaries
(B) Biosphere Reserves
(C) Cryopreservation
(D) National Parks

Yellow Stone Park is related to :
(A) Earthquake

(B) Nuclear disaster

(C) Natural Geyser

(D) Volcano

Water (Prevention and Control of Pollution)
Act was enacted in :

(A) 1988
(B) 1974
(C) 1972
(D) 1981

Ozone layer belongs to which of the
following layers of atmosphere ?

(A) Homosphere

(B) Stratosphere

(C) Troposphere

(D) Mesosphere

Lithosphere denotes :

(A) Rock
(B) Desert
(C) AiIr

(D) Micro-organism

Red List of Red Data Book contains
information about :

(A) Red flowers

(B) Red fish

(C) Endangered plants and animals
(D) All plants and animals
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55.

56.

57.

58.

59.

60.

The plan to inter-link the rivers of India is
known as :

(A) Indira Gandhi Plan

(B) Atal Bihari Bajpai Plan

(C) Rajeev Gandhi Plan

(D) Dastur Plan

Which gas was leaked in Bhopal in 1984 ?
(A) Methyl isocyanate (MIC)

(B)  Sulphur dioxide

(C) Carbon dioxide

(D) Nitrogen oxide

G. B. Pant National Institute of Himalayan
Environment and Sustainable Development
(GBPNIHESD) is located at :

(A) Haldwani
(B) Kosi-Katarmal
(C) Haridwar
(D) Dehradun

From which plant biodiesel is prepared ?

(A) Karonj
(B) Neem
(C) Jatropa
(D) Mahwua

‘Save Narmada Agitation’ is connected to :
(A) Medha Patker

(B)  Arundhiti Roy

(C) Baba Amte

(D)  All of the above

Who was awarded Magsaysay award for
encouraging water management system ?

(A) Rajendra Singh

(B) AnnaHajare

(C) Jamuna Lal Bajaj

(D) Vandana Shiva
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61.

62.

63.

64.

65.

66.

Silent Valley is located in :
(A) Assam

(B) Madras

(C) Mumbai

(D) Kerala

UV radiations bring about :
(A)  Skin cancer and cataract
(B) Liver cancer

(C) Mouth cancer

(D) Lung cancer

A disease borne from polluted water is :
(A) Backache

(B) Jaundice

(C) Deafness

(D) AIDS

The study of different population and its
trend is called as :

(A) Topography
(B) Demography
(C) Biography
(D) Geography

International Women’s Day is celebrated on :
(A) 8 March

(B) 3July

(C) 10 May

(D) 5 September

The largest desert of the world is :
(A) Sahara

(B) Gobi

(C) Kalahari

(D) Arabian
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67. Which of the following are hot spots of 67. fAmfoRad & @ @9 4Rd # Wafdfdgar & &fe
biodiversity in India ? Wie g ?
(A) Eastern and Western Ghats (A) 112ﬁ Td gf¥e) gre
(B) Eastern Himalayan (B) Ul feHIe™
(C) Sundaland © ﬂf_\fﬁﬁ
(D)  All of the above (D) Swa |l
68.  Nandhaur Wildlife Sanctuary is located at : 68. N gl IRy Rerd 2
(A)  Almora District (A)  3rcAreT forel |
(B) Nainital District (B) et et #
(C)  Udham Singh Nagar District (C) &M Rig TR el o
(D) Pithoragarh District (D) fiRTTE forel ®
69. Kaziranga National Park is known for : 69. BRI MR S ST Il & -
(A) Elephant (A) TN B fou
(B) Bison (B) SHTeH WfE @ forg
(C)  Rhinoceros (C) ffera fog
(D)  Wild Buffaloes (D) STl ¥4l & forg
70.  Earth Summit, 1992 was held in : 70. 1992 ¥ U AT AT o :
(A) Rio-de-Janeiro (A)  Rel-S-omRr #
(B)  Washington (B) aIf¥fred #
(C) Sydney () R d
(D) India (D) ¥Rd H
FES-10(A) (12) 2017
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10.

11.

The candidate is advised to check up the test booklet and ensure that it contains all the
pages. If there is any discrepancy, it should be reported immediately to the invigilator
within 15 minutes of the start of examination so that the test booklet be changed.

Wemell & I8 Frew e 9 & 6 98 W gRas @ See] 98 ghREd &) o b
gRTeT § W IS 2| AT DR IR 7 A Wem IF 8F & 15 e @ 3R uRued @l
gfod &, e W gRaer 98l 1 9 |

The candidate shall be careful in handling the question paper and in marking the answer
on the answer-sheet. The second test booklet will not be given in any case.

qiemell qlien gRT dT SWINT @R U STR-YUF B WA H FaEEl avd | fed o Rerfa 4
TR e gRTeT qAT STR-Y9F UG e fhal SR |

If any question is not attempted by you do not make any symbol in the concerned answer
circle.

IfS MU fhell U9 &1 IR A8l <7 © A THIT U3 & SR & Afhel H BIg fog 7 9917 |

From the given alternatives, the candidate has to select only one answer for each
guestion.

few Ty famedt # & wenedt B UdE T & SR B forg dad w & fawed g 2|

The candidate has to fill the appropriate circle on the answer-sheet. Only this answer-
sheet will be evaluated.

TWemefl & STR-YUF & i Albd Bl & WA 8| dad SR-YYF BT 8 GeAlbA [HAT
SR |
The candidate can do rough-work on the plain paper attached in the end.

et Yh-pRt 3T § o W BT W PR Gl 2 |

You are advised to answer the questions in the answer-sheet as you read them and do not
spend time in reading all the questions first.

T WRIE e S © {6 e gRaer & a1 TRAl 3 e # a1 §g @ | o | Al
& Ug & WA 8 IIR-IUF H SR A <d 9 |




